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Nom	
  :	
  

	
  

Note	
  :	
  

	
  

	
  

	
  

Exercice	
  1	
  

On	
  a	
  relevé	
  15	
  fois	
  les	
  hauteurs	
  de	
  neige	
  en	
  haut	
  et	
  en	
  bas	
  de	
  la	
  station	
  d’Avoriaz	
  et	
  obtenu	
  les	
  résultats	
  suivants	
  :	
  

	
  

Hauteurs	
  (cm)	
   85	
   115	
   145	
   175	
  

Avoriaz	
  (2	
  466	
  m)	
   1	
   1	
   0	
   0	
  

Avoriaz	
  (1	
  800	
  m)	
   4	
   1	
   0	
   1	
  

	
  

Hauteurs	
  (cm)	
   205	
   235	
   265	
   295	
  

Avoriaz	
  (2	
  466	
  m)	
   4	
   1	
   5	
   3	
  

Avoriaz	
  (1	
  800	
  m)	
   3	
   3	
   3	
   0	
  

	
  

	
  

	
  

	
  

1. A	
  l’aide	
  de	
  la	
  calculatrice,	
  déterminer	
  la	
  moyenne,	
  la	
  médiane	
  et	
  les	
  quartiles	
  de	
  ces	
  deux	
  séries	
  statistiques.	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

2. En	
  dessous	
  de	
  120	
  cm	
  d’enneigement,	
  les	
  conditions	
  de	
  ski	
  sont	
  médiocres.	
  En	
  supposant	
  les	
  données	
  représentatives	
  de	
  

la	
  période	
  considérée,	
  dans	
  quelle	
  proportion	
  a-­‐t-­‐on	
  dû	
  subir	
  de	
  telles	
  conditions	
  en	
  bas	
  de	
  la	
  station	
  de	
  ski	
  ?	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  



3. Peut-­‐on	
  affirmer	
  que	
  l’enneigement	
  a	
  été	
  supérieur	
  à	
  2	
  m	
  pendant	
  au	
  moins	
  la	
  moitié	
  de	
  la	
  saison	
  ?	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

	
  

Exercice	
  2	
  

Résoudre les équations suivantes : 

3𝑥 + 7 = 11 

−2𝑥 − 11 = −3𝑥 + 13 

7𝑥 − 5 − 3𝑥 = 2 𝑥 − 5  

𝑥! − 9 = (𝑥 − 3)(𝑥 + 5) 

	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

Exercice	
  3	
  

	
  

Info	
  1	
  



Une	
  image	
  numérique	
  en	
  niveau	
  de	
  gris	
  est	
  un	
  tableau	
  de	
  valeurs.	
  

Chaque	
  case	
  de	
  ce	
  tableau	
  est	
  appelée	
  «	
  pixel	
  »	
  et	
  contient	
  un	
  entier	
  compris	
  entre	
  0	
  et	
  255.	
  

La	
   valeur	
   0	
   correspond	
   au	
   noir,	
   la	
   valeur	
   255	
   correspond	
   au	
   blanc	
   et	
   les	
   valeurs	
  

intermédiaires	
  correspondent	
  aux	
  nuances	
  de	
  gris	
  allant	
  du	
  noir	
  au	
  blanc.	
  

On	
  nommera	
  dans	
  la	
  suite	
  du	
  sujet	
  	
  «	
  pixel	
  »	
  ce	
  nombre.	
  

	
  

	
  

Info	
  2	
  

Une	
  image	
  numérique	
  sous-­‐exposée	
  (manque	
  de	
  luminosité	
  à	
  la	
  prise	
  de	
  vue)	
  

souffre	
  d’un	
  défaut	
  appelé	
  «	
  bruit	
  ».	
  
Celui-­‐ci	
  se	
  manifeste	
  par	
  des	
  valeurs	
  aléatoires	
  de	
  certains	
  pixels.	
  

	
  
	
  

Info	
  3	
  

Le	
  statisticien	
  J.W.	
  Tuckey	
  (1915-­‐2000)	
  qualifiait	
  d’aberrantes	
   les	
  valeurs	
  d’une	
  série	
  statistique	
  se	
  

trouvant	
  en	
  dehors	
  de	
  l’intervalle	
  :	
  

𝑄! −
3
2
𝑄! − 𝑄!   ;𝑄! +

3
2
𝑄! − 𝑄! 	
  

Afin	
  d’améliorer	
  la	
  qualité	
  d’une	
  image	
  numérique	
  en	
  nuance	
  de	
  gris,	
  on	
  décide	
  de	
  remplacer	
  chaque	
  

pixel	
  ayant	
  une	
  valeur	
  aberrante	
  par	
  rapport	
  à	
  la	
  série	
  constituée	
  de	
  :	
  	
  

lui-­‐même	
  et	
  des	
  huit	
  pixels	
  qui	
  l’entourent,	
  

par	
  la	
  moyenne	
  de	
  cette	
  série.	
  

	
  

	
  

1. On	
  s’intéresse	
  au	
  tableau	
  de	
  pixels	
  ci-­‐dessous	
  :	
  

100	
   102	
   99	
  

101	
   25	
   103	
  

103	
   100	
   103	
  

	
  

a.	
  Calculer	
  les	
  premier	
  et	
  troisième	
  quartiles	
  de	
  cette	
  série.	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

b.	
  Le	
  pixel	
  central	
  peut-­‐il	
  être	
  considéré	
  comme	
  aberrant	
  ?	
  	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  



……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

c.	
  Si	
  oui,	
  par	
  quelle	
  valeur	
  doit-­‐on	
  le	
  remplacer	
  ?	
  Cette	
  valeur	
  semble-­‐t-­‐elle	
  plus	
  convenable	
  ?	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

2. On	
  considère	
  ci-­‐dessous	
  un	
  tableau	
  de	
  pixel	
  quelconque.	
  

𝒂	
   𝒃	
   𝒄	
  

𝒅	
   𝒆	
   𝒇	
  

𝒈	
   𝒉	
   𝒊	
  
	
  

Compléter	
  l’algorithme	
  ci-­‐dessous	
  de	
  façon	
  à	
  ce	
  qu’il	
  remplace	
  le	
  pixel	
  central	
  si	
  nécessaire.	
  

Saisir	
  les	
  valeurs	
  de	
  𝒂	
  à	
  𝒊	
  	
  

Saisir	
  la	
  valeur	
  du	
  premier	
  quartile	
  𝑄!	
  

Saisir	
  la	
  valeur	
  du	
  troisième	
  quartile	
  𝑄!	
  
	
  

Si	
  𝑒 <	
  …………………………………………………..…………..	
  ou	
  𝑒 >	
  ……………………………………………………………………..	
  ,	
  alors	
  

	
  	
  	
  	
  	
  Affecter	
  …………………………………..……………………………………………………………………………..	
  à	
  𝑒	
  
Fin	
  

	
  

3. a.	
  Par	
  quel	
  autre	
  indicateur	
  aurait-­‐on	
  pu	
  remplacer	
  la	
  valeur	
  de	
  𝑒	
  ?	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

b.	
  Faire	
  le	
  calcul	
  dans	
  l’exemple	
  de	
  la	
  question	
  1.	
  et	
  expliquer	
  pourquoi	
  cette	
  méthode	
  semble	
  plus	
  judicieuse.	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

……………………………………………………………………………………………………………………………………………………………………………………………………….	
  

	
  

	
  

Exercice	
  4	
  



1. Le	
  nombre	
  𝜙 = !!!

!
	
  	
  est-­‐il	
  solution	
  de	
  l’équation	
  𝑥! + 3𝑥 + 1 = 0	
  ?	
  

2. Montrer	
  que	
  pour	
  tous	
  réels	
  a	
  et	
  b	
  :	
  

𝑎! − 𝑏! ! + 2𝑎𝑏 ! = 𝑎! + 𝑏! !	
  

	
  


